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Hill Equation:
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Analysis of O2 Binding to Myoglobin and Hemoglobin

Myoglobin:

nh=Dy/Dx=

KD=

Hemoglobin:

nh=Dy/Dx=

KDave=

     Non Coop (Myo)    Cooperative (Hb)[O2]
(µM)

log[L]
   (M)       Y   log(Y/(1-Y))     Y log(Y/(1-Y))

0.43 -6.36   0.250       -0.477 0.005      -2.253
2.17 -5.66   0.625        0.222 0.029      -1.512
4.35 -5.36   0.769        0.523 0.084      -1.037
6.52 -5.18   0.833        0.699 0.198      -0.608
13.04 -4.88   0.909        1.000 0.685       0.338
17.39 -4.76   0.930        1.125 0.850       0.753


